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REGULATIONS 2007
FIRST SEMESTER
XCS 111 — ENGLISH — 1
COMPUTER TECHNOLOGY
Common to Software Engineerixngtlnfomation Technology)
Time: Three Hours 7 Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks )

1. Match the words in Column A with their meanings in

Column B: . Ux% =2)
A R B
a) copious ; 1) scarcity
b) incorperate ii) unbelievable
_e)ypaucity . iii) include as part
d) incredible iv) plenty

2. Ideﬁti.fy the sentence patterns for the following: (2x 1=2)
a. They made hitn Chief Secretary last year.
b. The leader éadmaséd the crowd cheerfully.

/
3. Change the ﬁﬂlowjng sentences into passive voice:
(2x1=2)
a. The auditors are checking the accounts.

b. The crew found the meteorological information very
useful.




[image: image2.png]Expand the following compound nouns so as to bring out
their meanings: (%% = 2)

(a) Weather observation station
(b) Power source

(¢) Cylinder walls

(d) Temperature drop

Rewrite the following inﬁn{tiﬁ.e forms in the sentences
as gerunds: S 2x1=2)
(a) To plan before a wotk is vkry essential.

(b) To do aerobics is é&ogl for health.

Fill in the blanks with the appronria\be form of the verbs:
“x1z=2) o

(i) When I v(have) my dinner, my friend

(claim) a number of

(iti) /India. (emexge) as the super power in

" Information Téchnology in a few years from now.

(iv) "{‘hey_;__?r{be) in London, last summer.

Write a\single/sen}bnqe definition for the following:
4 (2x1=2)

/

a. Computer virus b. Auditorium

Fill in the blanks with suitable indefinite adjectives:
(4x1/2=2)

a. concentration will you take a long way.

b. Have you left question unanswered?

c. He was a man of ambition,
d. We had rainfall last year.
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Use suitable prefixes to find the opposites of the
following words: (4x%=2)

Expand the following SI units: ‘

@ legal
(i) normal
(iii) regular

(iv) advantage

a. 500 Btu / ft3
b. 150 dpi

c. 40 ppm

d. 240 MHz

(@

PART+B (5%16=80 marks)

Read ~the ’ following passage carefully and
answer the questions given at the end of it:

. Some: 40 million years ago, the plate
bearing India' began colliding with the one
carrying Eurasia. The mighty Himalayas rose
as a result of this ongoing collision and the
Tibetan plateau is thought to have been pushed
up by as many as three kilometres over the last
10 million years. The rise of this majestic
mountain range and the adjacent plateau led to
the onset of the Asian monscon some eight
million years ago. As the India plate continues
to push into FEurasia, fearful stresses
accumulate at the faults marking the
boundaries between the two plates. For long
periods, the two plates remain locked together
rather like Sumo wrestlers trying to get the

(x4 =2)

(16)
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[image: image4.png]better of each other. The suddenly, when the
gtrain becomes too great, one or more of the
faults rupture, setting off an earthquake and
allowing a bit of the Indian plate to slip
beneath Eurasia. When the rupture happens
under the sea, as it did on that fateful morning
on December 26, 2004, it can set off a tsunami.
Global Positioning System (GPS)
receivers that actually monitor the position of
places on either side of the plate boundary
provide an indication .of the strain that is
building up. This, combined with estimates of
the strain released by past earthquakes, gives
researchers an indication of which faults are
most likely: to' rupture again.>. A leading
geologist has estimated that sufficient strain
had accumulated at about a dozen places across
the Himalayas to\drive a “greater earthquake”
(one _with a/ magnitude greater than 8).
gprv&evei', no one can predict when or precisely
hepe-gquch an earthquake will happen. But
earf)l;:uakes tend to cluster in time and space,
Wlth one ;earthquake redistributing stresses
and causfng another nearby fault to act up.
There aré active fears that December’s
earthquake 'might also push faults in the
Himalayas, alvéady teetering on the edge, into
erupting. A great earthquake in the Himalayas
could claim tens of thousands of lives.

It is not as though dangers to India from
earthquakes are restricted to the plate
boundaries. Fault marking weak zones within
the Indian plate can also fail, as happened at
Bhuj in Gujarath on the Republic Day in 2001
when about 20,000 people died. Over 60
percent of the Indian land mass is liable to be
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affected by earthquakes of various intensities.
Many of India’'s populous cities, including
Delhi, Mumbai, and Chennai are located in
zones with considerable seismic risk. A
government document remarks grimly: “Some
of the most intense earthquakes of the world
have occurred in any of the major cities.
Typically, the majority of the constructions in
these cities are not earthquake resistant. Thus
any earthquake striking in one of these cities
would turn into a majof dlsaster It will be
prudent not to push that sort of luck too far.
Considering how ‘much of the. country and its
people are vulnerable to earthquakes, a serene
awareness in the face of these risks is deeply
disturbing. Creating the necessary awareness
at all levels in vulnerable citiés, towns, and
villages must be the top priority. Only then can

measures to make buildings and other types of

cométruction better able to  withstand
earthquakes really take root.

Choose the correét answer

(1) ~.Major Indian cities are prone to

(i)

l.Dianger,, 2. Destruction 3. Tsunami
4. Earthiquake

A great earthquake in the Himalayas
means .
1. Loss of lives 2. Loss of cat
3. Loss of natural resources

4. Loss of tens of thousands of lives

4x1=4)
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[image: image6.png](iii) The Asian monsoon was the result of

(iv)

a) Severe earthquakes in the Himalayan
region.

b) Frequent earthquakes in the
Himalayan region.

©) Rise of the Himalayan range and the
nearby plateau. .

d) Fall of the Himalayan range and the
nearby plateau.

The earthquake at Bhuj occurred on

1. December 26t 2004
2. January 26t 2001

3. December 26" 2001
_ 4. Janiaty 26% 2004

()] Mention whether the following statements are

True or Fa\lse: (4x1=4)
1. The Tibetan plateau moved up due to a
_ collisién between two plates.
2. Scientists cannot exactly predict when
earthquakes will occur.
3. Earthquakes will occur near plate
boundaries only.
4. Awareness along will save the people from

earthquakes completely.

(¢} Choose the appropriate definition for the given
words or phrases as they are used in the text:

(4x1=4)
(i) Faults
1. Cracks 2. Mistakes 3. Wro 4. Errors
6 N484
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(i) Set off
1. Close 2.Rise 3.Push 4.Begin

(iil} Accumulate
1. Gather fast 2. Collect gradually

3. Put together 4.count

(iv)  Teetering
1. Fall down heavily Z.Syand straight

3. Move steadily 4,Move unsteadily
Answer the following questions: (2x2 =4)
(1) How doe\Tsunami oc;:\gr?

(2) Whatis thé function of GPS ;éceivers?
L Or

-
Read ‘the passage given it question no. 11 a) (16)
ahd' e notes from it. [se the correct format
of note-making.

@ - Write a paragraph describing the process (8)
of sending an e-mail.

(i)  Your boss is about to arrive in New Delhi 8)
on a five-day visit. He intends visiting
the plant at Jaipur as well. You want to
play it safe so you draft an e-mail to your

Jaipur office.
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®)

(@)

®)

Or

(i) Write a paragraph comparing computer
with human brain.

(i) Write a paragraph comparing human
being with robots.

Your uncle has <offered to sponsor you for a
three-week activity holiday with some training.
You have to choose between mountaineering
and trekkin}g. Write a letter*to'your uncle
thanking him for sponsoring you and explain
your reaséns for choosing either

mmmtaix@eﬁng or trekking.

Or

Write a lettér to the Editor of ‘The New Indian
Express’, suggesting measures to the problem

of frequent accidents that occur in your street.

®)

®)

(16}

16

N484




[image: image9.png]14. (@)

®)

Convert the following passage into a flow chart,

The earth contains a large number
of metals which are useful to man. One of the
most important of these is iron. The iron ore
which we find in the earth is not pure. It
contains some impurities which we must
remove by smelting./ The process of smelting
consists of heating the ore.in a blast furnace
with coke and limestone and reducing it to
metal. Blasts of hot air enter the furnace from
the bottom ,and provide the oxygen which is
necessary fdx' th\éreduction of the ore. The ore
becomes molten, and its oxides combine with
carbon from the coke. The non-metallic
constituents of the ore combine with the
limestorie-to form a liquid slag. This floats on
top,of the molten iron and passes out of the
{furnace t\hmug‘h a tap. The metal which
remains is pig iron.

el

< Or

Convert the following flow chart into a
paragraph of about 200 words. Use an
introductory and a concluding sentence with
proper sequential expressions and appropriate
connectives.

(16)

(18)
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[image: image11.png]15. (a) Do you think that the introduction of computers (16)

®)

in industries will lead to unemployment? Write
an essay expressing your ideas in about 500
words.

Or

It is sometime towards the end of twenty first
century. Imagine yoy are living in an Indian
village. Write an essay describing what the
village looks like ufider, the impact of
technology over the years.) °

N ‘\i

16)
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